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data = {{1, 0.26}, {2, 0.31}, {3, 0.35}, {4, 0.40},
(5, 0.45}, {6, 0.49}, {7, 0.53}, {8, 0.56}, {9, 0.60}, {10, 0.62}};

RE#EEET 5.

F[{a_, b_,c_}, x_] = a(l-Exp[-b x])+c

c+a (l-eP®)

JacobianDFHE, REICIIREDERTH S, {1-eP*, aeP*x, 11 EIFERAWS,

JacobianMatrix[funs_List, vars_List] :=
Outer[D, funs, vars]

dr[{a_, b_,c_}, x_] =
JacobianMatrix[{F[{a,b,c}, x]1}, {a,b,c}1[[1]]

{(1-e®*, ae®*x, 1}

IR T E, COFIDIHEE, ARDA 5L —2 a » THEBBTON,

NonLinearRegression[data, F, dF, {0.8,0.1, 0.1}]

Iteration Parameters
1 {0.819052, 0.0681907, 0.201943}
2 {0.893859, 0.0642488, 0.200478}
3 {0.894443, 0.064593, 0.200398}
4 {0.894575, 0.0645793, 0.200404}

Convergence obtained

{0.894575, 0.0645793, 0.200404}

Bo5hi={a,b,c} TH3,

{0.894575, 0.0645793, 0.200404}
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JV—F vlinearRegression(d. Gauss-Newton Z)LTUXADHFT, BHEOFLWISA—FEy o 1%H#
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ZOIN—FRAZABRENTVWILENH B,

LinearRegression[dF_,beta_,x_,dy_]:=
(Z=Map[dF[beta, #]&,x];
Inverse[Transpose[Z].Z] .Transpose[Z] .dy)

UTFREPHEGOTHY ., HETHIL—FU2REZARLESEIC,. SERERPIBAETHINED DERIT
BEHICANSZENTES,
Map[F[beta, #]&,x]

{0.17613, 0.245015, 0.307345, 0.363744,
0.414775, 0.460951, 0.502732, 0.540537, 0.574744, 0.605696}

beta
{0.8, 0.1, 0.1}
dy

{0.0838699, 0.0649846, 0.0426546, 0.036256, 0.0352245,
0.0290493, 0.0272682, 0.0194632, 0.0252557, 0.0143036}

Z//MatrixForm
0.0951626 0.72387 1
0.181269 1.30997 1
0.259182 1.77796 1
0.32968 2.14502 1
0.393469 2.42612 1
0.451188 2.6343 1
0.503415 2.78088 1
0.550671 2.87571 1
0.59343 2.9273 1
0.632121 2.94304 1

Transpose[Z].Z//MatrixForm

1.88457 10.1985 3.98959
10.1985 56.0614 22.5442
3.98959 22.5442 10.

Inverse[Transpose[2].2]//MatrixForm

62.6343 -14.4023 7.4802
-14.4023 3.50262 -2.15045
7.4802 -2.15045 1.96373
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maxHalvings=10;
tolerance=.00001;

NonLinearRegression[data_, F_, dF_, guess_] :=

presse = -1;
beta = guess;
n=0;

niter = 0;

{x, vy} = Transpose[data];
Print["Iteration Parameters"];

(»while JL-7DRA*)
While[True, dy =y - Map[F[beta, #] &, x];
(* Map[F[beta,#]&,x] &I,
BAEFDZRECbetazBRAL TH S, xXDURMEINICERAL TYyEKRDDEE +)

sse = Apply[Plus, dy"2]; (* dy"2 D#f% sseL T B »)

( if XOEILIZ If[condition, true, false] T&H 3 )
If [presse <0 || sse < presse,
(*error did not increasex)

(If[1 - sse/presse < tolerance,

(x*error stabilizedsx)
(Print["Convergence obtained"]; (*truex)
Return[beta])
, (*error decreasedx)
(presse = sse;

dbeta = LinearRegression[dF, beta, x, dy];
(*Return[];*)

beta += dbeta; n=0; niter++;

Print[" ", niter, " ", beta])]),

(*error increasedx)
dbeta /= 2; beta -= dbeta; n++;
If[n > maxhalvings,
Print["Convergence not obtained after
Print["Final parameters = ", beta];
Return[Null],

"

, maxhalvings " halvings"];

(xelsex)
Print["Halving... ", n, " ", betal;]111);

" 5E

MapBa# D EKRITLL T D@ Y,
GBI = D5/ DEEET S,

G[p_,w_]:=1+p w;
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GICr&je5anld. TEELEBHENEOND,
G[r,]]
l+jr

LERDOFTIEIIBEIMTH o728, wEWOURMEEZNIE, ERLEBBOUIMDBHELNS,
w={1,2,3};

Map[G[r,#]&,w]

{l1+r, 1+2r, 1+3r}



